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B.Sc.
1st Semester Examination
BIOTECHNOLOGY (Honours)
Paper - GE 1-T
(Biotechnology in Human Welfare)
Full Marks : 40 Time : 2 Hours
The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.
- Tlustrate the answers wherever necessary.
1. Answer any five questions : 5%x2
(a) Name the micro-organisms which are used in
industry for tetracyclin and penicillin production.
: 2
(b) What is symbiotic nitrogen fixation? Give
example. 1+1
(c) What is golden rice? 2
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(2)

(d) Write example of one chlorinated and one non-

chlorinated hydrocarbon? 2

(e) What is Xenobiotics? 2
(f) What is RAPD? 2
(2) How minute amount of DNA can be copied in
vitro in laboratory? >

{h) What is live vaccine? give example. 1+1

. Answer any four questions : 4x5

(a) Why mienbers are explored for industrial
production of value-added compound ? Write
the name of one bacteria and one fungi which
can produce alcohol. 3+2

(b) Write a note on plant-microbes interaction and
its application in agriculture. 5

(c) How TNT is degraded? 5

(d) Write the process of RELP and state the
applications of the process. 3+2

{€) Write the importance of monoclonal antibody.
What is gene therapy? 3+2

4



(3)
(f) Write the outcomes of human genome project.
5
3. Answer any one questions : 1x10

(8) How PHB can be biosynthesized? Write the
applications of PHB. Write the process of
transfer of pest resistance genes to plant.

4+2+4
(b) How the claim of paternity can be soived through
genomic analysis? What is recombinant insulin?

Schematically represent the process of
development of therapentic agent in bacteria.

4+2+4
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